


Question 18 
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b. 1.          Credit risk – LDD insurers have the risk that the insured might not reimburse 
them for    deductible losses, and so this needs to be charged for in the premium 
calculation. Excess insurance does not have credit risk because they reimburse the 
insured for losses above the retention, so there is no credit risk charge fro excess 
insurance. 

 ULAE – LDD insurers do all the servicing on all losses, so the ULAE cost is calculated on the 
entire expected loss. Since excess insurers only step in above the retention, ULAE is only 
charged on excess losses. 
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b. 1.          Taxes & Assessment: LDD is WC, excess is not. Excess pays no assessments & 
pays G.L. tax rates making it cheaper. 
2.  Competition & Profit load: Excess competes on price alone, & so profit loads 

are competitive & low, (LDD also offer claim handling services). Lowers excess 
price. 

 


